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WEST BENGAL STATE UNIVERSITY
B.A. Honours PART-III Examinations, 2018

PHILOSOPHY-HONOURS
PAPER-PHIA-VIII
Time Allotted: 4 Hours Full Marks: 100

The figures in the margin indicate full marks. 2N Tz wgT MU o o w3
Candidates should answer in their own words A e ST Y G SN Y
and adhere to the word limit as practicable. ez #fica

Group-A
(Full Marks-50)
Rt
 (9fm-eo)
Answer any one Optional Paper
CB-CFIA G315 Qe #itaq Taa we
(Vedantasara | (Q%@R)
Answer Question No. 1 and any twe from the rest within 600 words each
> R &M 8 WO (R-GINAL §17 oo Bea &ffB woo *rarw sy wie
& Answer any four questions from the following within 150 words each: 5%4 =20

e -ttt orafp v e &S yeo g Wy wes
(a) Distinguish between Vastu and Avastu.

3G 'S WA Wy Ay 7 o
(b) What is the differences between Kamya Karma and Nisiddha Karma?
T @ Pl a0l g o & e
(c) Distinguish between a Vakya and a Mahavakya.
% @ TR T #H1< foodt asca
(d) Define the Swarupa laksana of Brahman.
U w3 I ot e
(e¢) What is ‘Anubandha’?
g’ & 7
(f) Distinguish between Jivanmukti and Videhamukti.
B © frwegfer sug =i fa s
(g) What is Nimitta karana?
ffirs wtae f& ¢ |
(h) Distinguish between Parindma and Vivarta.
sifRes ¢ Rares s «iid et
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¥ What are sadhana-catustaya-s? Explain in detail any one of sadhana- 4+11
catustayas.

wmﬁﬁsﬁsmmmm-mmmmwm‘

Define Ajfana and discuss ﬂwsigmﬁcancc of each of the compcmcnts 15
IR w o e erseifae &fef st Mt s FE

4. Discuss how the author of Vedantasara refute the Carvaka view that the 15
‘self is identical with the body’.

BRI - SIAPHE G NS (R SR TRl fFeNA 1ew AT ¢

= What is meant by lmga'? Discuss the significance of six types of lingas in 15
explaining the meaning of Vedanta Vakya.

o e B caran o wieord cra wufly v i faod @

(Ryle / 71%)
Answer Question No. 1 and any fwo from the rest within 600 words each
SR e 6 WOIR CT-CAIA 71D e Taw aAfefh voo *ram s wie
1. Answer any four questions from the following within 150 words each: 5%x4 =20
frsferfae Q-cie s1afb eloea Saw el seo 103 Sog whes
(a) What, according to Ryle, is the origin of the ca!egory mistake?
M e @R-Reor Ay

(b) Discuss Ryle’s theory of self.
it SoicE aider welt SirEHl

(c) What are the two types of explanation according to Ryle? Discuss.
AR W 3 AT ) F F 9 G HA |

(d) Distinguish between single track disposition and multi-track disposition.
@R 2 ¢ TR RTGR T ~A1de e

(e) Explain briefly Ryle’s notion of retrospection in relation to self-knowledge.
I SRS ARE-a7 APTRCTR YRt TR 1 A

(f) Explain briefly Descartes’ theory of mind-body interaction.
(RPN (2= FRQRFAIRIWID FRTFTA YT P

(g) What is a dispositional statement? Explain with an example.
REISIE I FIF A 9 b SHIZAT FROTICE A FS

(h) Why does Ryle claim to have discussed the logical geography of ‘mind’ in
The Concept of Mind?
718w c@w #ifd w@W @ The Concept of Mind T o wr-az (s wwica
ez ST S0 ¢
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2.

What does Ryle mean by ‘intellectualist legend’? How does Ryle criticise

this legend with the analogy of the dogma of the ghost in the machine?

mMm’mﬁm?ﬁﬁﬂmm-mw*
- TR IRy @3 Reafe! wraes 2 Siam v

Write the differences between knowing how and knowing that. Is
intelligence a kind of knowing how? Explain.

PR B G A WIH-92 S0 *N1d 3l 3% & @wim w9 iy wan

Explain Ryle’s view of the nature of consciousness.
(BONT FMe! 9L AR TS 1 e |

How does Ryle distinguish between voluntary and involuntary actions? Give
his arguments against the Cartesian concept of volition.

WMWMMWMWWW?WW
TG e Reovvm ol PraB N o

(Logic / s¥faw)
Answer Question No. 1 and any fwo more from Section-I and Section-11
taking one from each section
S et WRFHE, QBIie 465 @at Y-y CF A-CFA 9% 78 w13 Foey wigat
7% eivaa Bga we

Answer any four questions from the following:

efiRe @it 51 siesn Bea wes

(a) Prove that there is one and only one empty set.

A IR N 1 93T R e @33

(b) Is the following argument valid? Give reason for your answer.

e IRef v 34 ¢ comta Sarm worw e e

Tomcats are Cats
Cats are a species
Therefore, Tomcats are a species

o R 2= R
o = 9ol erfe |
JoRR et Kot 21 @2l awife

(c) Use the truth-tree method to show that the following two sentences are

logically equivalent.
PR sfwfe ey frafefie el dfewer smds Rt orenes
(%) (Px & Ox)
(x) Px & (x) Ox

(d) Explain how the truth tree method works for determining the validity of an

3089

argument,

P ST (34t et oot o sropid o1 e w07 of 3 3

8+7

8+7

15

10+5
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(e) Distinguish between ‘A’ and ‘v’ with example.
AR v GE A BRIZAeTE s et

(f) Explain the relation of transitive, intransitive and non-transitive with
example.

SR, RGN GR SPREPINE T SHIERel TR I T

(g) What are the domain, counter domain and field of being a grandfather?
‘forstny’ 2671 57%%M04 domain, counter domain @2 field fAefy wzat

(h) Discuss briefly the paradoxes of C.I. Lewis’s theory regarding entailment.
&l 3oRE R C.1. Lewis-&3 TSR FOISTHSR FROFLA G-l T

Section-1 / 98-
2. (a) Translate the following sentences using set theoretic notation.
fsfefe aefns chfHtR Rom I 36
(i) All philosophers drink neither coffee nor tea.
Fipe Vi 1@ HAIR B W G R @ oI IR
(i) Any man is atiractive if he is dark and tall.
CR-CRITAT! = S afit (1 el R &7 2
(iii) All boys and girls of this class are meritorious.
% PR 4 (R 4R A (i
(b) Let V be the set of all positive integers and let
A = the set of all even positive integers
B = the set of all odd positive integers
C = the set of all positive integers greater than 10
D = the set of all positive integers less than 15.
1 AR, V = 261 7 4 o SRyt o
A = wae ol el s i o
B = ¥R o s o R o
C = %0-G7 (@ 31 N 4 R G0
D = 3¢ -3 % 3R §AF o Ut 7o
S e civef ffa s
Find the following:
N (AND)~(~B) (i)A~(~CuD) (ii)~D~C)
(¢) Which of the following statements are true (for all sets A, B and C)?
A, B @ C 05 97 oty fsferie arafem comb e 2
(i) IfA¢ BandB¢ CthenAg C
IMAg BaRBg CTUSIFAe C
(ii) fAcBandBc C, thenAcC
MAcBIRBc CROITAC
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(d) Find the value of the following:
Resieefm sy fmmer s
(OB} BN (1) R O PN B PN

3. (a) Test the validity of the following argument by Venn diagram.
ceabera Ay Yeba et Rowm 3

Ac~BuUC)
Be~(Au C)f: B=a

» (b) Test by Venn diagram whether the following propositions are consistent or

not.
confbeaa M et e smafesd Rt crats
Can
ANnB#Aa
ANC=A
(ANB)~C=n

(c) (i) Distinguish between irreflexive and non-reflexive relation with examples.
F-THEIES TR G-TIES THET WY Sz oy ey

(ii) The relation of being exactly one year younger in the set of all persons. -
Is it reflexive or irreflexive or non-reflexive?

T LI TR (0T P @93 9037 (26 287 79%) — oS B worvms =)
H-IPTIEE, A TS ?
@ If A={3,58} and R={(3,3).(55).(8.8)} then classify the relation

according to the properties they do or do not have (eg. reflexive, symmetric
not antisymmetric, not transitive etc.)

W A=(3,58) 9 R={(3.3),(55),(88)] =W, o & A property-a
fofere @2 srew fadf st oo ~ wraws, wgd, o, SRt Jerif

Section-1I / 98-
4. (a) Test the following arguments for validity by truth tree method.
ol ol iy Frae ferafen tarel Rl wtan
1 )xTm —>uTm), ~«Tm /. — @x) xTm

(i) Everyone whom Alma loves, loves Alma. Therefore, If Alma loves
everyone, everyone loves Alma.

Rl AWFR SHARI, (R WEHNF SIART | Toak 1 Siew] 5z
SR SIZ7a IR AN SR |

(b) Use the truth tree method to show that the following two sentences are
logically equivalent.

et omfed TRy fFrare refm W (e il o
@x) (Px v Ox), @x) Pxv (3x) Ox
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(¢) Use truth tree method to show that the following sentence is 2 logical truth.
[H = (M) (x)(H > Mx)
e #ifoa SiRic Aesa A foa (e TSl TS|
[H = (x)Mx]) > (x) (H = Mx)

3 Explain critically, after P.K. Sen, Tarski’s theory of entailment.
1, . o ST Tarski 7 oo FRER T IR
OR / 99dl

Discuss fully the relation between philosophical logic and mathematical
logic.

s 3R e iR IRt S0 siefs) AT T I

(Practical Vedanta  wragifee (AWE)

Answer Question No. 1 and any fwo from the rest within 600 words each

s =t o 6 WOl CI-COTE 7B e B aife voo 2T TG WS

1. Answer any four questions from the following within 150 words each:

PR - orafe sipag Baa 216 Seo W W0y Wes

(a) Explain the notion of “morality’ after Vedanta Tattva
ey S FT T g e FA

(b) Explain the significance of Practical Vedanta.
TR QWIS e I PR

(c) Is the state of Advaita merely an ideology? Or can it be attainable? Discuss
according to Swamiji’s Vedanta.
mmﬁmwmﬁmammmmﬂW?m
(ARG SRR SR AL T

(d) What are ‘the ways of winning weakness’ (Durbalata)? Discuss briefly after
Vivekananda.

WW’mﬁm@?ﬁmﬁmmmwwﬁwm!

(¢) How are Atmavada and Nairatmyavada reconciled in Advaita Vedanta?
SRS TS SR 6 RN T TN P LAWR ?

(f) Is Advaitavada contradictory to Dvaitavada?
s f taearor Real 2

(g) What is ¢ Aparoksanubhuti’ and how can it be attained? Briefly state after
Vivekananda.
W’ﬂ?mwmwm?ﬁwmmmma
et A

(h) Why do the notion of ‘Eternal Heaven’ and ‘Eternal Hell’ stand self-
contradictory according to Practical Vedanta of Swami Vivekananda?

mﬂﬁmmmmmﬁwmwﬁ’am e WD - G LRAE @ E-
RaR =mwer
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2.

How can Vedantic theory be the basis of ethics? Explain after Swami
Vivekananda.

o @ie vy @R B e Ar ¢ N Rewmwe SR 33
FEs I

Explain how the anecdote of Satyakama and Upakosala of Chhéndogya
Upanisada indicates the practical Vedantic view.

STy Beifrarea TeraT @ Sorarer RS v Fronr e ks
g Aot @, I I

Explain ‘the ideal of Universal Religion’ after Vivekananda’s ‘Practical
Vedanta'.

R Araie @S SpRd 3@ Redm el st e s
Al

How will practical vedinta bring about the well-being of a society? Discuss
after Swami Vivekananda.

TRl [@ure PO N ACF ST T 2 T RTFFE S F
HEHA IRl

(Dharma : Rabindranath Tagore / 5 : 7e=id 31%7)

Answer Question No. 1 and any fwo from the rest within 600 words each
ST @) & WP CR-CRICA 1D eraa Baw afSfb voo Wrw Wuyg Wie

Answer any four questions from the following within 150 words each:

e a-ciml 1At avga Bea afSlh deo g sy wies

(a) What should be the object of our prayer? How does Rabindranath answer
this question in his article titled ‘Prarthana?

iR Adam frm & gent Bfe o ‘iR erew 93 B 2l Frend
e ¢ s

(b) Explain the concept of Brahma-Vihara after Rabindranath.
TR Re IR FRIRICE e s s

(c) What is the relation between the theory of suffering and theory of creation?
Explain following Tagore’s essay “Duhkha”.
Forem O G R TG WY I W ¢ IAGACYE [ TH ST WA
I

(d) Discuss in brief, after Rabindranath Tagore the two aspects of human nature.

TR SPRA R W &6 4t e ROt ScAs=1 Sl

() Explain in brief Tagore’s concept of death following his essay “Pracina
Bharater Ekah”.

“ofI SITed TS oFE SR TNEAR SIFER Y TS 4t swowes
[A FEN
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(f) What does Tagore mean by ‘freedom’?
qiBierey 2o FREN T RICIE ¢

(g) “Actually acceptance and rejection, pondage and renunciation — both are
equally true” - Explain in brief after Tagore.
“ES AT G e, o @ T, o 3w ~ ANURVCE SEPE FE
SR

(h) How does patriotism become an obstacle for humanity? Discuss briefly after
Rabindranath.

m&mmmﬁ?mﬂwwmmﬂmww

2. «Uttisthata! Jagrata 1 — Explain and analyse the above statement following
Tagore’s essay ‘Manusyatva’. ,
wofade) e — FNHAE SR & S Toiraa AT ane e e
Frall

3 Which one is the day of festivity for human being? Explain elaborately after
Tagore’s essay “Utsaber Din’.
TR S e I » AL Berqaa sz s R ScEel
FEEN

4. Analyse different senses of the term ‘Duhkha’ following Tagore’s essay
‘Duhkha’. -
mamqwmmmgmﬁ%aWﬁmmm;

5 How does Rabindranath explain the diverse nature of the universe in his
essay ‘Pracina Bharater Ekah’?
mqmm‘mmmz’mﬁmm@w««m?

(Communist Manifesto / FSRE Filitieaen)}

Answer Question No. 1 and any fwo from the rest within 600 words each
se @ @ B R 41D o Ta &l voo WTwE TP WS

1. Answer any four questions from the following within 150 words each:
fsfiRe Qe o1l el Bad 2ife Sao ML G RS
(a) Discuss in brief the cénoept of ‘class’ after Marx.
raftas sErRe w0 e a«mﬁmwmwmm:

(b) Give reasons: According to MarX and Engels the ‘pmletariat is the only
revolutionary class.

e catas T e ammmwa-amamﬁﬁ =

(¢) Discuss in brief the notions of private property and family after Marx and
Engels.
MMmﬁmd&rﬁsmﬁﬁe ammﬂmm%mm
et

3089
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(d) Write a short note on: The Nature of the Bourgeoise according to Marx and
Engels.
sefisel Ba! (icais The Nature of the Bourgeoise according to Marx and
Engels.

(¢) Who are the Capitalist class?
Aftife @ s

(f) What do Marx and Engels mean by the recurrent crisis of capitalism?
mm:wmmwe e B JRTITeH ¢

{g) What is meant by ancient feudalistic society?

Sibia e ifEs WA IS I ?

(h) What is meant by Communism?
HIFAR FETS F @R ¢

2 How would state, as an apparatus of class exploitation, be withered away?
Discuss after Marx and Engels.

Mmmmmmmwﬁmmmmﬁemﬁmm
i IR

3 “Every class struggle is a political struggle.” — Explain clearly the
implications of this observation of Marx.

coffef Galivrals- 2 2o aretafom A — T @} @ A I

4. “Proletariats have nothing to lose but their chains” — Bring out the
implication of the statement.

‘mmmmmwﬁ@mmcai"-ﬁqﬁmmaﬁﬁmmx

- % What is meant by the forces of production? Why are they called the basis of
society?
Tt it s 706 13 (IR ¢ (et v Sraice Fofe =

(Practical and Environmental Ethics / 330 aa Afica Rfefan
Answer Question No. 1 and any fwo from the rest within 600 words each
ot @ @ WeiA (RGN F1D v g affefb voo THR W WS

1. Answer any four questions from the following within 150 words each:

RS @-A! BRfE 2vi Oug afdl seo s Wy s

(a) What 1s euthanasia?
FEN QO I A ?

(b) What is meant by gender discrimination?
ok (S TACS ) QAN 9

3089 9
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(c) Is animal killing morally wrong?

= 2o i (AfeeSig SwE ¢

(d) Distinguish between overt racism and covert racism.

2430 @ WEFE TSNS (IR0 Wy +iidfw geare )

(e) Make a distinction between active and passive euthanasia.

58 6 o8 T Teie sy ot (rne)

{f) What is the central doctrine of environmental ethics?

ARrenps Ao 7 e ¢

(g) What are the main difference between Liberal ferhinism and Radical

feminism?

TwRA @ e AR @ Admem f g

(h) Is terrorism ethically acceptable?

3089

SERT $ (AfeTeta FadiT 7
(i) What is ecology?
AHRE SLF A 7
(1) Explain the concept of Apthropoccntrism.

e Qe A BT

Discuss the main characteristics of Human Rights.

Give an acceptable definition of suicide. State and explain the arguments in
favour of suicide.

WEE]IE G ARETAls W w6 | SRSk T e Sra ¢ g

What are the ends and means of a war? Do you need any special set of moral
standards during war?

o o7 @ T S FY Q@RI JOF T i (B R Gl iewe ey

What is the cause of discrimination in society? Do you support the principle
of reservation as a means of compensating discrimination?

e (R e B o ofl & Warre afeRanm v ke Afers smdw
@ 9 . .‘

10

15

3+12

3+3+9
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Group-B
(Full Marks-50)

st
(fa-eo)
i Write an essay on any one of the following topics of Indian Philosophy: 25x1 =25
(Within 1500 to 2000 words)

wirsh witan fsfaiie Remeln ww @-@m o ft Rawm B o e
(3¢o0 (UF 000 *THA AH))

(a) I$vara in Indian Philosophy
SRS W e

(b) Satkdryavada vs. Asatkiryavada
FRERAN I SR

(¢) Pramana in Indian lﬂiloscphy
oo it e

(d) Vaisesika Paraméanuvada.
R SR

2. Write an essay on any one of the following topics of Western Philosophy: 25x1 =25
(Within 1500 to 2000 words):

spote; Wit FefRe Revefn W @ @ 9= Recw Bir a7s @
(3¢o0 (JCF Jouo *THT WH))

(a) Place of God in the Philosophy of Descartes and Spinoza
ot @ Fofrateta weita T

(b) Rationalist view on mind-body relation

(=N e 3 i) e
(c) Kantian concept of space and time
6 O 8 JILER et

(d) Entailment theory versus constant conjunction theory.
PTG I FES- AR |

3089 11




